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 ***  Summary Statistics for data in:  exair *** 
 
                ozone radiation  
     Min:   1.0000000    7.0000 
    Mean:   3.2477838  184.8018 
  Median:   3.1413807  207.0000 
     Max:   5.5178484  334.0000 
 Total N: 111.0000000  111.0000 
   NA's :   0.0000000    0.0000 
Variance:   0.7928069 8308.7422 
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 *** Crosstabulations *** 
Call: 
crosstabs(formula = number ~ car.age +  
 type, data = exclaims, na.action 
  = na.fail, drop.unused.levels =  
 T) 
8942 cases in table 
+----------+ 
|N          | 
|N/RowTotal| 
|N/ColTotal| 
|N/Total    | 
+----------+ 
car.age|type 
      |A     |B     |C     |D     |RwTtl| 
------+------+------+------+------+-----+ 
0-3   | 391  |1538  |1517  | 688  |4134 | 
      |0.0946|0.3720|0.3670|0.1664|0.462| 
      |0.3081|0.3956|0.5598|0.6400|     | 
      |0.0437|0.1720|0.1696|0.0769|     | 
------+------+------+------+------+-----+ 
��…. 
------+------+------+------+------+-----+ 
ColTtl|1269  |3888  |2710  |1075  |8942 | 
      |0.14  |0.43  |0.30  |0.12  |     | 
------+------+------+------+------+-----+ 
Test for independence of all factors 
 Chi^2 = 588.3 d.f.= 9 (p=0) 
 Yates' correction not used 
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 ***  Correlations for data in:  exair *** 
 
               ozone radiation  temperature     wind 
      ozone  1.00000   0.42201   0.75310    -0.59893 
  radiation  0.42201   1.00000   0.29409    -0.12737 
temperature  0.75310   0.29409   1.00000    -0.49715 
       wind -0.59893  -0.12737  -0.49715     1.00000 
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 *** Linear Model *** 
 
Call: lm(formula = ozone ~ temperature, data = exair, na.action = na.exclude) 
Residuals: 
   Min      1Q  Median     3Q   Max  
 -1.49 -0.4258 0.02521 0.3636 2.044 
 
Coefficients: 
               Value Std. Error  t value Pr(>|t|)  
(Intercept)  -2.2260   0.4614    -4.8243   0.0000 
temperature   0.0704   0.0059    11.9511   0.0000 
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Residual standard error: 0.5885 on 109 degrees of freedom 
Multiple R-Squared: 0.5672  
F-statistic: 142.8 on 1 and 109 degrees of freedom, the p-value is 0  
 
Correlation of Coefficients: 
            (Intercept)  
temperature -0.9926     
 
 
Analysis of Variance Table 
Response: ozone 
Terms added sequentially (first to last) 
             Df Sum of Sq  Mean Sq  F Value Pr(F)  
temperature   1  49.46178 49.46178 142.8282     0 
  Residuals 109  37.74698  0.34630               �
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 *** Stepwise Regression *** 
 
 *** Stepwise Model Comparisons *** 
Start:  AIC= 29.9302  
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 ozone ~ radiation + temperature + wind  
 
Single term deletions 
 
Model: 
ozone ~ radiation + temperature + wind 
 
scale:  0.2602624  
 
            Df Sum of Sq      RSS       Cp  
     <none>                 27.84808 29.93018 
  radiation  1    4.05928 31.90736 33.46893 
temperature  1  17.48174 45.32982 46.89140 
         wind 1   6.05985 33.90793 35.46950 
 
 *** Linear Model *** 
 
Call: lm(formula = ozone ~ radiation + temperature + wind, data = exair, na.action 
= na.exclude 
 ) 
Residuals: 
    Min      1Q   Median     3Q   Max  
 -1.122 -0.3764 -0.02535 0.3361 1.495 
 
Coefficients: 
              Value Std. Error t value Pr(>|t|)  
(Intercept) -0.2973  0.5552    -0.5355  0.5934  
  radiation  0.0022  0.0006     3.9493  0.0001  
temperature  0.0500  0.0061     8.1957  0.0000  
       wind -0.0760  0.0158    -4.8253  0.0000  
 
Residual standard error: 0.5102 on 107 degrees of freedom 
Multiple R-Squared: 0.6807  
F-statistic: 76.03 on 3 and 107 degrees of freedom, the p-value is 0 �
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 ***  One-Way ANOVA for data in time by diet
 
Call: 
   aov(formula = structure(.Data = time ~ diet,
  "formula"), data = exblood) 
Terms: 
                diet   Residuals  
 Sum of Squares  228       112 
Deg. of Freedom    3        20 
 
Residual standard error: 2.366432  
Estimated effects may be unbalanced 
 
           Df Sum of Sq Mean Sq F Value         Pr
     diet  3       228    76.0    13.57143 0.00004
Residuals 20       112     5.6                  �
 *** 

 class = 

(F) 
658471 

� � � �

����

		


�


	

��

��


�



��������			 ����� 
��	�

�

� � 	��I�����7
���A<�<<<<KF25�.5� ���.��6��
��3��"����Ö×¹º» !���	�

��
.��
������������

�

����#�$���%&&�

�� !�" �

� ������
!���	��		� �


�� ����6
��������5�6������7�����	����2$�>�/�"3���������������7
��
!���������

!�� ��
��������$��1$���
�	�(66�����

0�	��>È�� �

�

�

�

�

�

�

�

�

�

�

�

�

�

� � � � � � �������>È��

�

�

�

�

�

�

� � � � � � ?�������>È��

�

�

�

�

�

�

�

�

�

Ø� ��	���
�



��������			 ����� 
����

�

� � � � � ����>È��� ��.��������

�

� �

����'������%&&�

�� !�" �

�����
��.�����		� �

� � � � 
���;}Ù/%�|Ú�}�ÛÜ +S���|��}ÝÞ0ß��

� � � � � � *��6���
��
�	����66�����$��1$���	������
�������5�����5���!
��5�
�	� �

!�������!
��5�7
��
������

>
��5�0��������

� � >�� >+� L��� >�;�

4�� K<� +M� L��� BN����

4+� � � � �

4�� � � � ��+�

4+� � � � �

� � � � �

!����
��������$��1$�?
�	���(66�����

������
��0�������I>
��5�D��
�����G��G�>
��5�

4����/
��.�� ��6������	��66�����q> 7
��
!���à ������
��.������

����������

�
*** Analysis of Variance Model *** 
 
Short Output: 
Call: 
   raov(formula = Moisture ~ Batch + Sample %in% Batch, data = expigmnt, 
na.action =  
 na.exclude) 
 
Terms: 
                   Batch Sample %in% Batch Residuals  
 Sum of Squares 1210.933           869.750    27.500 
Deg. of Freedom       14                15        30 
 
Residual standard error: 0.9574271  
Estimated effects are balanced 
 
                      Df Sum of Sq  Mean Sq Est. Var.  
            Batch    14  1210.933 86.49524   7.12798 
Sample %in% Batch  15   869.750 57.98333  28.53333 
        Residuals    30    27.500  0.91667   0.91667�
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95 % simultaneous confidence intervals for specified  
linear combinations, by the Tukey method  
 
critical point: 2.7987  
response variable: time  
 
intervals excluding 0 are flagged by '****'  
 
      Estimate Std.Error Lower Bound Upper Bound       
A-B -5.00e+000      1.53       -9.28      -0.725 **** 
A-C -7.00e+000      1.53      -11.30      -2.720 **** 
A-D -1.64e-014      1.45       -4.06       4.060      
B-C -2.00e+000      1.37       -5.82       1.820      
B-D  5.00e+000      1.28        1.42       8.580 **** 
C-D  7.00e+000      1.28        3.42      10.600 **** 
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